Midterm 2
Multivariable Calculus
(Math 32B-001)
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Use the Change of Variables ;?rmula G(u,v) = (u/v,uv) to evaluate the
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2. -
U i :
m se spherical coordinates to evaluate the integral / / / f(z,y,2) dV, where
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'¥,2) = z and W Is the ice cream shaped region lying above the cone z2 + 32 = 2z
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3. 1 h
Find the center of mass of the region D bounded by y2 —r+4and z
with magg density §(z, y) =
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| 4. Evaluate f (
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Oriented counterclockwi

)J‘.*N ¥ 3?14 nyg
SInz dz+ » COsy dy+sin y dz),

where C is the ellipse 42%+9y* = 36,
ise.

g;\ )i) - ©0:0

—3

no |

¥ = (San ) ZCOSY, Sim53 : .
ra 4
IV
xo \ — . |
< X = S = - COSX + C |
‘t} ; X J K A

Q\A‘[\Q %})5 ‘-"ZCOSU ‘ N 25-.,\'.3 *Q), |
= Sy, VE RSy G, |
- )

We See s g S a ?0\“‘“‘0\\ ‘V/\

Plnction \= Es‘m\y“ﬁ*-
Stnce e

AOM AN, puer LA TS M cuwe Q
S

| bg”\j m*—earcd{_d
\\\“H/\‘\s ndicotesy e

'S S(Mpl C QV\VLLL*Q_@

M a(uevx Teld S

Teetd, ;‘
Q\)akuah‘u\f Mm&&am[ R angy \
oo Wl el N |

Page 5




